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Structured Charts - Transform Analysis
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Structured Charts - Basic
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Structured Charts - Advanced
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Unit Test Plan

Approach

CMS2| Program Source code % Unit TestE 2|t Test Code= Cygwin(gcc) +vi+gec HE0|A O|F 0 X|H
Program Source codel| #HE 8 =7 Al 2 X|EH o= SED HAEERD

o

Item pass/fail criteria
2t BE2 QFAEE BT THESIOJOF otCh U3 o e =3 44| Zut7t Z0fof oot



Unit Test Plan - Test Identification

Identifier Feature (Process ID in DFD) Valid value

CMS_UTD_001 2.1.1 CONTROLLER Userl st HHOE 2510 HHO O siEst
= &5 A™AIZICH

CMS_UTD_002 213 E= =, 25, 7172 S 2oretM X[CHX|E "X Y=
X| =l 7|Eo| 7o MER af2 F7tsh CHE1I0I
EtCt

CMS_UTD_003 212 {7 o2, 25, o, &H| MEH2O| MEt HHZS st
|:|-_

FEO|M CH7| 29| HEf T2H0] Yol W= 1027t

2t0|
Xk § CH7 |2 HEfE MesiH, HA0AM CH7 (22
AEf 7‘19H\|01IE S LSk A EICL
CMS_UTD_004 214 O <k 0| 2+ 0| %EMI , Ol eF2 HA0Qf, HI| ot & StLt

£ TRUEWSZE HP&I"E} AFEN 7} HFR! M= Of| QA Zt
I HAAIZ 22 ) A @Hetptl. Oforo|
2 0= A 8 Al 20| ¥0o| XY 0 AT

(Bh AL =& M= EH2ks MEH01|)\1 F2EC)

CMS_UTD_005 215 &H|




Unit Test Plan - Test Identification

Identifier Feature (Process ID in DFD) Valid value

CMS_UTD_006 216 24 HAF TEE 10g E0|2, HLZIRE 52|12, 712
MEE 4 AKX FEHEE 4 AKX E FHSIY
S3BiC
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Unit Test Plan - Test Specification(1/4)

Identifier

Input Specification

Output Specification

CMS_UTD_001_001

Command=

CMS_UTD_002_001

Command="water=1"

(8% + 9 20| ¥ 2ol o)

Water=water+1

CMS_UTD_002_002

Command="coffee=1"
(8% £ Y= YZo| A2 HAS )
=]

Coffee=coffee+1

CMS_UTD_002_003

Command="powder=1"

83 & 9t ALIRO ¥ YAS W)

Powder=powder+1

CMS_UTD_002_004

=W =
Command="water=10000"
(8% % Yt 20| AS HAS )

Water=1000
(SRSOf| T+H[Z QI HHO|

=k

2710 ZHZE maxk|2

CMS_UTD_002_005

Comman offee=10000"

d:
(=8% £ Us Fo Y2 HS m)

coffee=100
(SRSOf| T+H[Z QI HHO|

MY

2710 ZHZ maxk|2

CMS_UTD_002_006

Command="water=10000"
(+8% % Ut 77tz ¥ €S W)

Powder=1

(SRSOf| M ¢l 2F0|

HYEh

710 ZHE maxX|2




Unit Test Plan - Test Specification(2/4)

Identifier

Input Specification

Output Specification

CMS_UTD_003_001

Command="water=5, density=20"

Return=-1

(22 ¥EL 57t 20t FH|Z HO{7HX| R

CMS_UTD_003_002

Command="water=5, density=4,
coffee=5,powder=0"

Return=-1

(29 ¥0| s=HCH wX|TH S
=4

2tM, 7R E =8 = 8lth)

0| 100] OfL

CMS_UTD_003_003

Command="water=5, density=4,
coffee=80,powder=1,
remove=1"

Return=-1

(=ds USRS, AL W7H7| 7t HOrRlo] 2

0] 27hs3tEt.)

CMS_UTD_004_001

Command="setTime(0,10,
&coffeeTime,&cleanTime)”

CoffeeTime=10

(02 coffeeTime2 2 HHDICI=

= AZEE OSfAZEe 2 EL)

Zo|H, 1002}

CMS_UTD_004_002

Command="setTime(1,10,
&coffeeTime,&cleanTime)”

CleanTime=10

(1€ cleanTime2 2 MH3ICH=

A2 OlSfAIZt 22 E0)

fo|, 100|2t=

ng

CMS_UTD_004_003

Command="currentTime=10,
coffeeTime=20,cleanTime=20"

Return=-1
(MRE|X| et

CMS_UTD_004_004

Command="currentTime=10,
coffeeTime=1,cleanTime=1"

Return=0
(HAm FH| 7t A |0{of BHCL)

CMS_UTD_004_005

Command="currentTime=10,
coffeeTime=20,cleanTime=1"

Return=1
(HA7) A3 |0fOf BhCt)




Unit Test Plan - Test Specification(3/4)

Identifier Input Specification Output Specification

CMS_UTD_005_001 Command="water=1000, density=4, Return=7
coffee=80,powder=0, (crushreturngf 1,
remove=0 boilreturngf 2,
temperature=1" extractreturngt 48 Ciot 2|5 21, & 37pA| &

goz Z £ ASS 90|

CMS_UTD_005_002 Command="water=1000, density=4, Return=5
coffee=80,powder=0, (crushreturngt 1,
remove=0 extractreturngt 48 CI3t 2|5 21, & 27tX] &
temperature=0" gdo2 4 = AZE 9l0))

CMS_UTD_005_003 Command="water=1000, density=4, Return=6
coffee=80,powder=1, (boilreturngf 2,
remove=0 extractreturngt 48 Ciot 2|5 41, & 274X &
temperature=1" o2 4 £ AZE 9l0))

CMS_UTD_005_004 Command="water=1000, density=4, Return=4
coffee=80,powder=1, (extractreturngf 45 O+ 2T 21, F 17HK|
remove=0 gaoz Z 4+ A2 20|)

temperature=0"

CMS_UTD_006_001

Command="CrushTest”

CurrentTime=15
(AMAIZLE 1022 HUS If 571 F7F ZU=
7h

CMS_UTD_006_002

Command="CrushTest"

Coffee=0
EM JAFES 1092 HUS I 100] & E
Af=7h




Unit Test Plan - Test Specification(4/4)

Identifier

Input Specification

Output Specification

CMS_UTD_007_001

Command="BoilTest"

CurrentTime=20
(AAIZHE 1022 FUE I 100] =71 £}
=7h

CMS_UTD_008_001

Command="ExtractTest"

CurrentTime=20
(AT AIZHE 1022 THUAZ If 100 =7t Y
=7h

CMS_UTD_008_002

Command="ExtractTest"

Powder=9
(BMIIRE 1092 HUS I 10| ZA Y=

7h

CMS_UTD_008_003

Command="ExtractTest"

Water=0
(BN 29 &2 1022 U2 M 100] LA k&
01:7|»)

A=

CMS_UTD_009_001

Command="Clean”

Water=500
(&A™ Z2f 40| 10002 M 5000 HAEZIY
71?)
CurrentTime=10
(&A™ AlZto] 00| E I BAH2 = 1001 F7t
CRA=71?)

rir

CMS_UTD_009_002

Command="Clean”

Water=-1
(B 22 ¥0| 1002 M X7t LMSH=7}?)




Unit Test Result

Passed

CMS_UTD_004_001 CMS_UTD_001_001 | Passed CMS_UTD_007_001 Passed
CMS_UTD_004_002 | Passed CMS_UTD_002_001 | Passed CMS_UTD_008_001 Passed
CMS_UTD_004_003 | Passed CMS_UTD_002_002 | Passed CMS_UTD_008_002 | Passed
CMS_UTD_004_004 | Passed CMS_UTD_002_003 | Passed CMS_UTD_008_003 | Passed
CMS_UTD_004_005 | Passed CMS_UTD_002_004 | Passed CMS_UTD_009_001 Passed
CMS_UTD_005_001 | Passed CMS_UTD_002_005 | Passed CMS_UTD_009_002 Passed
CMS_UTD_005_002 | Passed CMS_UTD_002_006 | Passed
CMS_UTD_005_003 | Passed CMS_UTD_003_001 | Passed
CMS_UTD_005_004 | Passed CMS_UTD_003_002 Passed
CMS_UTD_006_001 | Passed CMS_UTD_003_003 | Passed







